

4i)

$$\sinh y = x$$

$$\frac{1}{2}(e^y - e^{-y}) = x$$

$$e^y - e^{-y} = 2x$$

$$e^{2y} - 1 = 2xe^y$$

 $\times e^y$

$$e^{2y} - 2xe^y - 1 = 0$$

$$e^y = \frac{2x \pm \sqrt{4x^2 + 4}}{2}$$

$$e^y = x \pm \sqrt{1+x^2}$$

$$y = \ln(x \pm \sqrt{1+x^2})$$

$$y = \ln(x + \sqrt{1+x^2})$$

since $x - \sqrt{1+x^2} < 0$
so log not defined

$$y = \ln(x + \sqrt{1+x^2})$$

$$e^y = x + (1+x^2)^{\frac{1}{2}}$$

$$e^y \frac{dy}{dx} = 1 + \frac{1}{2}(1+x^2)^{-\frac{1}{2}} \times 2x$$

$$e^y \frac{dy}{dx} = 1 + \frac{x}{\sqrt{1+x^2}}$$

$$\frac{dy}{dx} = \frac{1 + \frac{x}{\sqrt{1+x^2}}}{x + \sqrt{1+x^2}}$$

4i)
(cont)

$$\frac{dy}{dx} = \frac{1 + \frac{x}{\sqrt{1+x^2}}}{x + \sqrt{1+x^2}} \times \frac{\sqrt{1+x^2} - x}{\sqrt{1+x^2} - x}$$

$$\frac{dy}{dx} = \frac{\sqrt{1+x^2} + \cancel{x} - \cancel{x} - \frac{x^2}{\sqrt{1+x^2}}}{(1+x^2) - x^2}$$

$$\frac{dy}{dx} = \frac{\frac{1+x^2 - x^2}{\sqrt{1+x^2}}}{1}$$

$$\frac{dy}{dx} = \frac{1}{\sqrt{1+x^2}}$$

ii)

$$\int \frac{1}{\sqrt{25+4x^2}} dx = \int \frac{1}{\sqrt{4\left(\frac{25}{4}+x^2\right)}} dx$$

$$= \frac{1}{2} \int \frac{1}{\sqrt{\left(\frac{5}{2}\right)^2+x^2}} dx$$

$$= \frac{1}{2} \ln\left(x + \sqrt{x^2 + \left(\frac{5}{2}\right)^2}\right) + C$$

4.iii)

$$\int \sqrt{25+4x^2} dx$$

Let $2x = 5 \sinh u$

$$2 \frac{dx}{du} = 5 \cosh u$$

$$dx = \frac{5}{2} \cosh u$$

$$= \int \sqrt{25 + 25 \sinh^2 u} \times \frac{5}{2} \cosh u du$$

$$= \frac{25}{2} \int \sqrt{1 + \sinh^2 u} \times \cosh u du$$

$$= \frac{25}{2} \int \cosh^2 u du$$

$$= \frac{25}{2} \int \frac{\cosh 2u + 1}{2} du$$

$$= \frac{25}{4} \left[\frac{1}{2} \sinh 2u + u \right] + C$$

$$= \frac{25}{4} \left[\sinh u \cosh u + u \right] + C$$

$$= \frac{25}{4} \left[\sinh u \sqrt{1 + \sinh^2 u} + u \right] + C$$

$$= \frac{25}{4} \left[\frac{2x}{5} \sqrt{1 + \frac{4x^2}{25}} + \operatorname{arsinh} \left(\frac{2x}{5} \right) \right] + C$$

$$= \frac{25}{4} \left[\frac{2x}{5} \sqrt{1 + \frac{4x^2}{25}} + \ln \left(\frac{2x}{5} + \sqrt{1 + \frac{4x^2}{25}} \right) \right] + C$$